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1 	� Which among the following animals has fins?

A.	 	 B.	

C.	 	 D.	

Science
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2 	 Which among the following plants grow in water?

A.	 	 B.	

C.	 	 D.	

3 	 Which of  the following activities causes air pollution?

Activity 1 Activity 2

A.	 Activity 1 only	 B.	 Activity 2 only

C.	 Both the activities	 D.	 Neither of  the activities

4 	 Who of  the following is correct?

Rama:
Sun is larger  
than Earth.

Jaya:
Mercury is 

a planet.

A.	 Jaya	 B.	 Rama

C.	 Both are correct	 D.	 Both are incorrect
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Technology & Engineering
5 	� Match the following:

	 Column (A)		  Column (B)

1.	 Special key	 i.	

2.	 Alphabetic key	 ii.	

3.	 Numeric key	 iii.	

4.	 Function key	 iv.	

A.	 1 → i, 2 → ii, 3 → iii, 4 → iv	 B.	 1 → iv, 2 → i, 3 → iii, 4 → ii

C.	 1 → iv, 2 → iii, 3 → i, 4 → ii	 D.	 1 → iv, 2 → iii, 3 → ii, 4 → i

6 	 Match the following with their names:

Column (A)	 Column (B)

1.	 Printer	 P.	

2.	 Speakers	 Q.	

3.	 Microphone	 R.	

4.	 Scanner	 S.	

5.	 Web camera	 T.	

A.	 1 → P, 2 → S, 3 → T, 4 → R, 5 → Q	 B.	 1 → R, 2 → Q, 3 → T, 4 → P, 5 → S

C.	 1 → R, 2 → S, 3 → T, 4 → P, 5 → Q	 D.	 1 → S, 2 → R, 3 → P, 4 → T, 5 → Q
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7 	 Which of  the following is an input unit of  a computer?

A.	 	 B.	

C.	 	 D.	

8 	 Find the next two figures to complete the figure pattern given below.

       ?       ?   

A.	 	 B.	

C.	 	 D.	
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Mathematics

9 	 Which of  the following is same as “53 ones + 64 tens = 1 thousand + 143 ones”?

A.	 530 + 64 = 100 + 143	 B.	 53 + 640 = 100 + 943

C.	 53 + 640 = 1000 + 143	 D.	 503 + 640 = 1000 + 143

10 	 Sharing  equally between  ,

each will get .

A.	 	 B.	

C.	 	 D.	

11 	 Raj has

  ,

 ,

,

He has the total amount same as __________.

A.	   	

B.	   

C.	      	

D.	      
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12 	 Statement 1:

1 Litre 200ml 200ml

= + + + +

200ml 200ml 200ml

Statement 2:

1 Litre 1 Litre 1 Litre 1 Litre

= + + +

5 Litre

Which of the following is true?

A.	 Statement 1 is true and Statement 2 is false.

B.	 Statement 1 is false and Statement 2 is true.

C.	 Both the statements 1 and 2 are true.

D.	 Both the statements 1 and 2 are false.

1.	 (C)	 2.	 (A)	 3.	 (A)	 4.	 (C)	 5.	 (D)	 6.	 (C)	
7.	 (B)	 8.	 (C)	 9.	 (C)	 10.	 (B)	 11.	 (D)	 12.	 (A)

ANSWERS




